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Solving with Square RootsSolving with Square Roots

Warm-Up Tuesdayagendaagenda

remindersreminders

Warm­Up
HW Check

Notes (Flip Book)
HW: Practice #1­13

Quiz Friday

Algebra Simulation 
Tuesday 3/31

Simplify the following the expressions

1. 122

2. (­12)2

3. √144
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Questions, comments, concerns?



7 Solving by Square Roots.notebook March 24, 2015



7 Solving by Square Roots.notebook March 24, 2015

Algebra 1 SimulationAlgebra 1 Simulation
2nd, 3rd, and 4th period

Most of us  will meet at 8:55AM in the freshmen gym WITH a 
calculator and pencil. If you are not in the gym, we will let you know.

You will test until B­lunch, then you will attend 5th­7th period.

5th period
Go to 1st, 2nd, and 3rd like normal.  Then go to A­lunch!!

You will meet at the freshmen gym  WITH a calculator and pencil  at 
12:30 and test until 4:10PM.

If you have taken this class before, please see Ms. K.
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Solving with Square RootsSolving with Square Roots

Steps to Solve by  Square Roots:

1. Get the squared term alone.

2. Take the square root of both sides ( 2nd    x2   ) 

3. Don’t forget the  ± !

4. Finish solving (if necessary)

5. You should have TWO answers
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HW #1-13. Don't 
forget the back!
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HW Help: Square RootsHW Help: Square Roots

#1­8, each correct answer is off to the right. Get your squared term alone, 
then take the square root of both sides. Don't forget the plus/minus!!!!
The joke answer is "A YOKE BOOK". Remember: no work, no credit, no kidding!!
#9, divide both sides by 5 before taking the square root. You should get TWO 
answers!
#10 Again, you should have TWO answers!
#11, Area = length x width. Your equation should look like 2h 2 = 162. Remember 
you cannot have a negative measurement!
#12, Area of a triangle is A= 1/2 b h. Your equation should look like 50 = 1/2 (b)
(2b). Round to one decimal place and don't forget to find the height!
#13, the sunglasses reach the field when h=0. Solve for your squared term, 
square root both sides, and round to TWO decimal places.

No Work = no Credit = no kidding!

Need extra help? Drop by tutorials!!
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